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EM: A
FH: FHSAMNE & XNSNL(2ELNSNL /X Al)
Sl ENMBEANA CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
oOZ&CIxe 22 600,000
O=2&ds 02t F&Xxd & 100,000
drA=5= Hdl 70,000 0 70,000
403 A X EHHS 201 A 70,000 0 70,000
01 X SHHMA=2LE L 70,000 0 70,000
OSMSE EXAdEFES At 22X 70,000
R A=I|=2HE =8 &4 200,000 0 200,000
207 O H] 200,000 0 200,000
01 284 200,000 0 200,000
OUAT AEI|2HE 28 828 200,000
FEANFEHFUAZHEX S (AIS SR /FH) 61,203,476 65,859,790 24,656,314
= 54,581,688
< 6,621,788
FEHIYMI A 60,387,476 63,110,790 AN2,723,314
= 53,765,688
< 6,621,788
=H20W(22) 59,114,696 62,820,790 A 3,706,094
= 53,625,088
< 5,489,608
202 o4dl 5,000 5,000 0
01 = LH o4 1l 5,000 5,000 0
OFNHEXNLRFL 5,000
308 XtXIEHH SOl A 59,109,696 62,815,790 A 3,706,094
= 53,625,088
< 5,484,608
01 AXHHILEES 59,109,696 62,815,790 A 3,706,094
OFAHSUH ALY 59,109,696
= 53,625,088
< 5,484,608
HEEY 87K =H=0H XA 90,000 90,000 0
403 UHXHHSA=0l & 90,000 90,000 0
01 XM A=E L 90,000 90,000 0
OZAETE =dKX =H20H XA 90,000
SHE Z0 =8 HZAE(22) 182,780 0 182,780
= 140,600
= 42,180
403 MtXISHHES A0l & 182,780 0 182,780
= 140,600
< 42,180
01 XM A=2EE 182,780 0 182,780
Os0E ZOHQ=C JHZAE 182,780
= 140,600




EM: A
B ZHAZONFUFEHSNS N (MBI SX/F)
Sl FE MK (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
| == 42,180
22T SE0HE =X N & 1,000,000 0 1,000,000
403 UHXSHHSA=0l& 1,000,000 0 1,000,000
01 X SHHM U422 L 1,000,000 0 1,000,000
OZdT S OIE =X XA 1,000,000
ZHE MK 2 816,000 2,749,000 ~1,933,000
= 816,000
HEHSAAGXA(=Z1) 663,000 2,337,000 A 1,674,000
= 663,000
403 MtXSHHS =0l & 663,000 2,337,000 21,674,000
= 663,000
01 HXSHMA2E X 663,000 2,337,000 A 1,674,000
OMEHIZIAMAXA 663,000
= 663,000
CEDTYLELY ALHKS(2D) 153,000 412,000 259,000
= 153,000
403 MHXISHHE X201 & 153,000 412,000 A 259,000
= 153,000
01 AXSHMA=2EE 153,000 412,000 A 259,000
O-=3Z2U=E AlEMH 153,000
= 153,000
ESMEFAHAANE FHAA(MISX/ES - HFLHY) 3,090,000 4,565,000 A 1,475,000
MEd 8= T 3,090,000 4,565,000 A 1,475,000
MESE =HHIE XS ANY 3,090,000 4,565,000 A 1,475,000
308 XtXIEHH SOl A 3,090,000 4,560,000 A 1,470,000
01 AXHHILEES 3,090,000 4,560,000 A 1,470,000
otlzg=2 =) s N 3,090,000
HY I ZHI (A=) (JIEHIIE 36,566 37,526 A 960
JlEZ3l 36,566 37,526 A 960
EM29 J=22Z 4l 36,566 37,526 A 960
201 Let2d] 24,326 24,326 0
01 At 221 24,326 24,326 0
ORA2Y AtR2eltl 24,326
202 O4dl 8,640 9,600 A 960
01 =S LHA YI 8,640 9,600 A 960
OFRNE2Y WAL 8,640
203 R =&l 3,600 3,600 0
04 FN2ELRZ=TH 3,600 3,600 0
©20¢! Olat 300,000& +12& 3,600




